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No. 15 Z-F 100m E R TiE

L 1M1=12% >

IEfr K 4 R 2EOKE B
1 HE &) Wt A AR /N6 7/ 3 1:02.30 10#% ( 0.76)
2 BRI w‘:ﬁfgélﬁ /N6 5/ 3 1:03.61 9% ( 0.63)
3 FH®HND wwfg%) /N5 3/ 9 1:05.00 10#%  ( 0.69)
4 AKH s wa‘r#fgéégﬁ /N5 2/ 1 1:05.47 9% ( 0.67)
5 i HR w\ﬁﬁkgczfzm /N6 1/ 5 1:05.86 8tk ( 0.67)
6 —H & mfié‘% N6 2/ 4 1:06.14 8% ( 0.67)
7 HFHAE w\ﬁﬁ%;# /N6 2/ 7 1:06.40 9% ( 0.82)
8 Ml Ay ;m‘:ﬁfigﬁj /N6 2/ 2 1:06.88 xF® 8k ( 0.70)
9 fHkE &R /vwfi'ﬂgﬁ /N6 2/ 6 1:06.93 8k ( 0.68)
10 A WE wa‘r\ﬁfig% 1 2/ 3 1:07.02 8tk ( 0.72)
11 A HFERETY wﬁfiiaﬁ /A6 1/ 1 1:07.14 9k ( 0.70)
12 i e /vwfiiz%%ﬁ /N6 1/ 6 1:07.16 8tk ( 0.67)
1390 §ikG /V?\ﬁj;}’éfﬁ /N6 2/ 5 1:07.17 8tk ( 0.78)
14 B K& ;m‘:ﬁfi'ﬁn 1 1/8 1:07.25 8tk ( 0.66)
15 HHA B & Mﬁf;ftlﬁﬁﬂ il 1/ 2 1:07.70 8tk (0.77)
16 5 fEH /v$ﬁfi§éZETFﬁ /N6 1/ 7 1:07.92 8tk ( 0.76)
17 G H )Y wﬁfiﬁgaﬁ 1 2/ 0 1:07.98 8k (0.73)
18 i ek /vwfiklsg)c(ﬁm 1 2/ 8 1:08.03 8tk ( 0.82)
19 #&  Ai3E M\ﬁfi}ffm%.% 1 1/ 0 1:08.30 Tk ( 0.64)
20 TrHZEER ;va‘:ﬁz%ﬁ /N6 1/3 1:09.22 Tk (0.69)

No. 15 &% 100m BEH* TiE

L 13— >

IEfr K 4 B 2E KE B
= N WAty AR 3 9/ 2 59. 28 10#%  ( 0.64)
2 HI HEE ;vﬁfi%%ﬁ H2 9/ 0  1:00.42 10#% ( 0.65)
3 2 B ;va‘:ﬁfg}f?ma.% 2 8/ 8 1:01.28 9% ( 0.71)
4 b)) Emz ViE I 2 8/ 7 1:01.51 9 ( 0.70)
5 ilH K¥ wzﬁ/zg%mﬁﬁﬁ 2 9/ 9 1:01.76 9% ( 0.64)
6 (LM 23 wwgzﬁzé}liﬁﬁ H1 7/ 8 1:01.82 9k (0.71)
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No. 15 Z-F 100m E R TiE

L 13—14% >

IEfr K 4 R 2EOKE BF
7T Rt ASE Wty Adb A 1 8/ 3 1:01.83 9% ( 0.71)
8 EHRTOMY /v$ﬁ52%;9ﬁjfv€ 2 7/6  1:02.39 9% ( 0.68)
9 BN BeEE W;S;%lﬂi% 2 8/ 0 1:02.42 9k ( 0.62)
10 A0 ER wwfgﬁltzﬁﬁﬂ 2 6/ 5 1:02.44 9% ( 0.69)
11 sy A wﬁfi%j%ﬂ; 1 6/ 4 1:02.49 9% ( 0.67)
12 =3 ZEH ;ijgéé% 1 7/ 2 1:03.22 9%k ( 0.66)
13 FRiE % 1 mfﬁ#& 2 5/ 4 1:03.27 8tk ( 0.75)
14 AR SR ;m‘:ﬁfg%%'—a 2 7/ 7 1:03.39 8tk ( 0.67)
15 HZE Afb mfg%%g# 1 3/ 5 1:03.43 9k ( 0.69)
16 /bR LK M\ﬁfgg%’ﬁm 1 6/ 6 1:03.87 8tk ( 0.73)
17 (i 2 mf(x)% H2 6/ 0 1:04.00 8tk ( 0.73)
18 4&H i /vwfgfé%aa 2 7/ 5  1:04.05 8tk ( 0.72)
19 HHp & M‘#fg%}fgﬁﬁi)i' 1 5/ 2 1:04.14 8tk ( 0.68)
20 HH ERH ;m‘:ﬁf(x)}g# 1 3/ 4 1:04.24 8tk ( 0.73)
21 J)IASIRTY M’ﬁé%uzl}l» 2 6/ 8 1:04.25 8tk ( 0.68)
22 R5F ¥®H 282 E 1 5/8 1:04.27 8tk ( 0.68)
23 aJE i wwfgﬁéz 2 3/ 0 1:04.32 8tk ( 0.67)
24 BpU b Mﬁfg'i?tlﬁﬂﬂ 3 3/ 7  1:04.46 8tk ( 0.76)
24 OO T2 w\ﬁjg'ﬁg? H1 4/ 3  1:04.46 8tk ( 0.89)
26 Bk BCR w‘#fﬁﬁ? 2 7/ 9 1:04.62 8k ( 0.65)
27T HAR HEK /V?\ﬁng?SSC(ﬁBT 11 4/ 7  1:04.68 8tk ( 0.70)
28 R BHAE M\ﬁﬁ"gﬁﬁﬁ 2 4/ 4 1:04.75 8tk ( 0.75)
29 T %EH wwﬁ'ﬂgf H2 6/ 1 1:05.04 7% ( 0.67)
30 /NEORD ;vwfgélmﬁ 1 4/ 2  1:05.53 8tk ( 0.69)
31 BT = T 2 4/ 8 1:05.81 7% ( 0.63)
32 &9 w\ﬁf}%}ﬁ 2 5/ 7 1:05.93 Tk ( 0.60)
33 YL XY /v?\ﬁjg}jg\?h% 12 6/ 9 1:06.08 7#% ( 0.70)
34 i)l RAY M\ﬁ%};}f\ 1 3/ 1 1:06.12 7k ( 0.67)
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No. 15 Z-F 100m E R TiE

L 13—14% >

B K 4 B 2EOKE B
35 AL ¥ Vi AR BT F12 4/ 5 1:06.14 7% (0.64)
36 TR B w‘#f;i;s%(fzﬁﬂ 1 5/ 5 1:06.17 % (0.76)
37 VEfk AR ;m‘:ﬁf;ﬁm il 4/ 1 1:06.30 % (0.78)
38 J\ARILHIH Mﬁ%&?ﬁ 1 4/ 0 1:06.31 7k (0.61)
39 BWA AH ;m‘r#ﬁii(?s?c@m 1 4/ 9 1:06.39 7k (0.68)
40 AN % /vwﬁ??i;i: 2 3/ 8 1:06.56 % ( 0.69)
41 /M g ;ij;%gaa 2 3/ 2 1:06.58 7k (0.67)
42 ¥EH A w\ﬁf;ji_gﬁ 2 5/ 0 1:07.54 6% ( 0.67)
43 % B ;va‘:ﬁjii(?s?c(fm i1 3/ 6 1:08.01 6% ( 0.68)
44 WTH BT /vz\ﬁz% 1 3/ 3 1:09.67 6% ( 0.65)

No. 15 &% 100m BEH* TiE

< 15t >

B K 4 B SE OKE B
1 A B A K1 9/ 4 58. 56 10#% ( 0.62)
2 KM AT VAR AKSCANT =2 9/ 1  59.22 104, ( 0.62)
3 Ml BheH M\ﬁfi%i ®3 9/ 5 59. 63 9k ( 0.62)
4 SEH DL VERDT 3 9/ 7  59.68 otk ( 0.64)
5 Kifs e mf?%%g 3 9/6  1:00.19 9%k ( 0.69)
6 BA RS /Vﬁr\ﬁfi;%;# w2 8/ 6 1:00.26 9k ( 0.70)
TR HX M\ﬁfg'/O\E)Elﬁ w1l 9/ 3 1:00.31 9k ( 0.74)
8 Rk mf?ké?ézfm Bl 8/ 4 1:00.51 9% ( 0.60)
9 du)il ¥ }ngg# ml o 8/2 1:01.10 9% ( 0.67)
10 i 1EE wﬁr\ﬁfg"%%ﬁﬁ mml 8/ 9 1:01.13 9k (0.71)
11 HF4& W /va‘r\ﬁfi%'rf)lfgﬁﬂ w1l 7/ 4 1:01.45 9% ( 0.66)
12 X Bk /m‘r\ﬁfggaﬁ m3 8/ 1 1:01.52 8tk ( 0.66)
13 PR HAEME VERDZ? . H3 9/ 8 1:01.53 9% ( 0.68)
14 fEfE gk Vit 13 6/ 3  1:02.37 8 ( 0.63)
15 H# R ;w\ﬁfgg‘zﬁ% K1 6/ 7 1:02.57 Tk (0.72)
16 T3 =5 /vwg%&gz Bl 5/ 1 1:02.60 8tk ( 0.66)
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No. 15 &+ 100m BHEF FiE
L 15mLlE >
B K& 4 & PE KR iclE
17 H Ay vty 24k H =3 7/ 0 :03. 89 7% (0.61)
30. 41
18 /K B VA AREEE T =2 8/ 5 :04. 98 % (0.74)
31.33
19 WplRs  A52F VA A e IR =2 5/ 9 :05. 46 6% ( 0.71)
31. 28
20 Y 4R VAt AT TR = 4/ 6 :05. 78 7% ( 0.65)
31. 22
21 B E=H VA A W 3 6/ 2 :06. 02 68% ( 0.74)
30. 90
22 FiA  EAE vty AKSC4 AT 13 5/ 6 :06. 98 6% ( 0.65)
31.51
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